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Question 1

You are involved in an SAP BW/4HANA project focusing on General Ledger reporting and want to use
the SAP ERP standard DataSource OFI_GL 14 (New GL Items), which is not active in your SAP ERP
system. Which transactions can be used to activate this DataSource? Note: There are 2 correct
answers to this question.

A. Transaction RSAS5 (Installation of DataSource from Business Content) in the SAP ERP system

B. Transaction RSORBCT (Data Warehousing Workbench: Bl Content) in the SAP BW/4HANA
system

C. Transaction RSA2 (DataSource Repository) in the SAP ERP system

D. Transaction RSDS (DataSource Repository) in the SAP BW/4HANA system

Answer AB

Question 2

How does SAP position SAP Datasphere in supporting business users? Note: There are 3 correct
answers to this question.

A. Business users can create agile models from different sources.

B. Business users can allocate system resources without IT involvement.
C. Business users can upload their own CSV files.
D. Business users can create restricted and calculated columns based on existing models
E. Business users can leverage embedded analytic Fiori apps for data analysis.
Answer ACD
Question 3

You want to build an SAP HANA HDI calculation view of data category CUBE, but you get a "no
measure defined" error.

For the business requirement, a measure does not make sense.
Besides changing the data category to DIMENSION, what do you have to do?

A. Switch from an aggregation node to a projection node.
B. Switch from a projection node to an aggregation node.
C. Switch from a projection node to a star join node

D. Switch from an aggregation node to a star join node.

Answer A
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Question 4

You use a measure with semantic type "Amount with Currency Code" in your SAP HANA HDI
calculation view.Which kind of currency reference can be assigned to the measure? Note: There are
2 correct answers to this question.

A. A column from another SAP HANA view

B. A fixed currency from table TCURC

C. Another column of the same SAP HANA view
D. Avariable in the same SAP HANA view

Answer AD
Question 5
Why do you set Read Access Type to "SAP HANA View" in a BW InfoObject?

A. To generate an SAP HANA calculation view, data category Dimension
B. To use the InfoObject as an association within an Open ODS view

C. To enable parallel loading of master data texts

D. To report master data attributes which are defined in calculation views

Answer D
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